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Ssin sec dis

I
[sinccos(2x] di

(sinc cos(2x) di
=(sin (cos-sint2)dx
n= COS1 =) du = -sinzdx

(sin(2x) cos (3x)dx
> --Su2-D-uz) du

Ssinnsechdx
= - (2) - 1 bu
=

- (2 -u + 4)
=(sin (1-1052), =-+n + C

n= cos
=> du =

-sinxdx
=- + cos + C

- = - ((1 - uY +zd
=- St - 1 du I= - ( - n +4)
= n + 4+ C

= cost



sin2
=Isincos

Let n = COS .

(sin(2x)cos(32) di
=> du = - sinc di

= (sin2x (cOSLCCO2-sinkcsinc)
a

= /(cosLicoSx- LsinxCoss) sinze
dis

= ((os2x(cosx- 2 (1 - cos22)(052) sinzi di

= ((01212c0xx -2cox+ 2cos'2) sin2id

=> /(cosh) - 1) cos - 2102 +2cos) [sinccos dis
= -2)((24= Du - 2u +2nb))udu
=-2/2u"-n2 - 24+zu

+ du

= -2(442- 342du

=
- 2 (I-+ 4)

=- En5 + 2n+ C

=

- q(0sx + 2cSx+
C


